SH4AEE-BEG |

1/2
HERAGTARZBHSRUASED ERBE FAREAEREEE
R E B RER (D
50 287 PER g e &
=8 75 WERERME DG
DOTHIT 3 7 H
K 4 PANICHRE L 7=
H D
% 5% Eﬂi ‘ ‘ (it 4 cm X £ 3 cm)
BEFD - SRR e2 A HA i %)
BNURVAS
I
EiE ( ) T ( )
SRS 2 7 BT B B lc DHEAT B = &
ks | T % i ( )
Hi 55 o B (P D B R
(W« 7 - 43) B H»D A - iR
(W« 7 - 43) £ H HET A3 A
(BF « 3¢ - 43) A H2 o b
(W« 7 - 43) £ H HET - I RLIA
(BF « 3¢ - 43) A Ho o b
(K« 3 - ) A HE<T - HFERLA
(W« 7 - 45) £ B H»D A - iR
(W« 3 - 43) A HE<T - HFERLA
(W« 7 - 43) £ B H»D A - iR
(W« - 45) £ HET a3 A
BAFIEC OV TORTAL T EE W, REFBRZE « KPR - FLKAE « BEPAE7E - Zofth ]
i 5] ik Ji&
(W« - 43) £ A Bhb HE - IR
(3« F - 43) £ A B%ET - PR R
(W« 7 - 43) £ A B W - R
(W« - 43) £ HET - BT
(W« 7 - 43) £ A B W - R
(W« - 43) £ HET - BT
(W« - 43) £ A Bhb HE - IR
(3« F - 43) £ A B%ET - PR E
(W - F - 45) £ B BH»b HE - I
(3« 3 - 45) £ A HET - B
(3« 3 - 45) £ 3 Bhb HE - R )
(B3« - 45) £ A HET - BT
(3« 3 - 45) £ 3 Bhb HE - R )
(B3« - 45) £ A HET - BT
(W - 7 - 43) £ A BHhb HE - IR
(3« 3 - 45) #£ A  HET - B
(W - 7 - 43) £ A BHhb HE - IR
(3« 7 - 45) #£ A  HET - [ 2

RES R

D& LRVWEER

C BRRICRER L T2 Sy,



2/2

%o FF “
BAS4EA B i i BUS4EH B REF - EHA
(W-E-4)  # A R (WG - -+ 45) A
(-E-%)  # A R (WG - -+ 45) A
(W-E-4)  # A R W-Fe)  F A

BRBE - RFECSE

¢

oI

5[] 55 R A

EE OB
(= SE[H 23 = 4~ 2 fid
X CE) X 72 EL)

By i GZUT5H0IC

O)

A s o
T
p
v
-
WMEFETELIIE LFEE G4 THH01I20)
TENE W &
FMRERLET D
FlBJels Ko T LT 5,

FIHZmE L7,




